
Lattice multiplication with two-digit numbers (2x2)

Solutions are on page 2

(1) (2) (3) (4) (5)Lattice method
78 x 29 = 2262
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Lattice multiplication with two-digit numbers (2x2)

Also see the Worksheets and Walkthroughs video: 'Multiplication--The Lattice Method'

(1) (2) (3) (4) (5)Lattice method
78 x 29 = 2262
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58 x 90 = 5220
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55 x 35 = 1925
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51 x 39 = 1989

1
5

+0
0

3
+0

4
5

0
9

5      1

3

9

1

9
8 9

62 x 90 = 5580
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45 x 94 = 4230
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63 x 77 = 4851
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30 x 42 = 1260
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58 x 21 = 1218
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27 x 48 = 1296
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78 x 71 = 5538
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